MODULE WORK  1
7semester

4 course airnavigation
1.Find the term that matches the description:
accident - sudden - backtrack - visible - initially - interrupt - collision -correlation - immediately - find out - explosion - obey -block - excessive rotation - delay - deduce – roll - error
1. Happening quickly and unexpectedly _____________. 

2. Return by the way that one came ______________. 

3. At first ___________. 

4. Event that happens unexpectedly end causes damage, injury ______________. 

5. Mistake ______________. 

6. Sudden and violent bursting ______________. 

7. Crash _____________. 

8. Learn by study or inquiry ____________. 

9. Mutual relationship ___________. 

10. In sight ___________.

11. At once ___________. 

12.Brake the continuity of something temporarily ___________.

13. Carry out a command ____________. 

14. Obstruct _____________. 

15.Extreme movement in circles round a central point ___________. 

16.Movement on wheels ____________. 

17. Put off until later
. 

18. Arrive at facts by reasoning
_________.

2.Fill in the gaps with the prepositions where it is necessary:

1. We observe flock ____ birds moving ____west. May we avoid them right of airway?

2. Request detailed information about bird's activity ____the vicinity ____ the aerodrome.

3. Wind screen wipers are out ____order.

4. Bird migration ____ the vicinity ____ aerodrome.

5. I have a problem with hydraulic control boosters’ _____ bird strike.

6. Will try to make emergency landing ____ your aerodrome.

7. I suspect hydraulic leak ____ bird strike.

8. Returning ____the aerodrome ____ departure. Request fuel dumping area.

9. Cabin is depressurized ___ bird strike.

10. Right engine has failed ____bird strike. Losing altitude.

11. Be informed ____ bird migration south ____ your aerodrome.

12. Engine damaged ____ foreign object, maybe bird.

13. We have to land immediately ____engine failure _____ bird strike.

14. Bird ingestion ____ initial climb, engine failure.

15. Port engine is cut_____, request priority landing.

16. _____landing a complete examination will be necessary.

17. Fuselage skin is hit ____ bird.

3 Match the words on the left with their definitions on the right:
A) exhaust 

the amount of energy, oil, electricity etc that is used
rotation

the ability a material has to increase in length or in width without tearing 

consumption
good enough to be used for a particular purpose or to be considered satisfactory
stretching 

 when something turns with a particular movement around a central point 

handle

a decrease in the size, price, or amount of something, or the act of decreasing something 
pollution 

to do the things that are necessary to complete a job
reduction
the gas produced when an engine is working or pipe on a machine that waste gases pass through 
acceptable
the process of making air, water, soil etc dangerously dirty and not suitable for people to use 
4 Insert the prepositions where it is necessary:

1. We are going ____ land ____ your field due fuel problem.

2. Unable to continue my flight returning ____ the aerodrome ____ departure.

3. We are coming back. Suspect severe fuel ____ leak.

4. Fuel spill ____ the port side.

5. Pressure is low ____ fuel feed system.

6. I’m short ____ fuel. Request priority ____ landing.

7. Suspect fuel consumption system ____ failure. The aircraft is banking ____ the port wing.

8. We are low ____ fuel. Request the nearest available ____ aerodrome. 

9. It seems we haven’t got enough ____ fuel.  

10. We need to dump fuel ___ landing weight.  

11. We intend to jettison fuel because ____ the excessive weight.

12. I have burnt out fuel ___ landing weight. 

13. Request quick release ____ fuel.

14. We cannot land now because ____our weight.

15. Will report when ready ____ landing.

16. We’ve got the safe value ____ landing weight.

17. Fuel dumping completed 

18. Request vectors to fly ____divertive aerodrome.

5.Read the text and complete the sentences using the correct words from the box.

	the failure
 to fly
  
contamination

 emergency

power



engines
 the necessary 
occurred
 exhaustion
 
damage


to recover
 detached




ENGINE FAILURE 

Although aircraft are now designed ________ even after the failure of one or more aircraft engines, ________ of the second engine on one side for example is obviously serious. Losing all engine ________ is even more serious, as illustrated by Dominicana DC-9 air disaster, when ________  caused the failure of both ________ . To have an ________  landing place is then very important.

In the 1983 incident, an Air Canada flight suffered fuel ________  during cruise flight, forcing the pilot to glide the plane to an emergency landing. The automatic deployment of the Ram Air Turbine maintained ________  hydraulic pressure to the flight controls, so that the pilot was able to land with only a minimal amount of ________  to the plane, and minor (evacuation) injuries to a few passengers.

The ultimate form of engine failure, physical separation, ________  in 1979 when a complete engine ________   from American Airlines Flight 191, causing damage to the aircraft from which the pilots were unable ________ .

6.Three of the words have something in common. Find the word which does not belong with the other three.

A triangle
B square
C circle
D place

A height
B hour

C metre
D space

A metre
B minute
C second
D hour

A early  
B late

C soon

D far

A clock
B week
C month
D year

A high
B wide

C heavy
D long

A fly

B swim
C dive

D descent

A wide
B deep

C bright
D high

A hull
B engine
C gears
D overdue

7.Insert the prepositions where it is necessary:

1. Take off aborted________ engine failure.

2. We shut down one engine  __________a bird strike.
3. Do you have damage __________ the engine.

4. Engine number one is running again, we will be able to proceed ___my destination.

5.
I have  intercepted a distress message ________ KLM 1385, it has engine  failure, losing altitude, declared emergency.

6. 
Left engine failed, will attempt emergency landing ______ your airfield.

7. 
We are unable  to make a right orbit_______  starboard engine failure.

8. 
He requests foam _______ the runway.

9. 
The pilot reports an  engine fire and loss ______   altitude.

10. The aircraft landing but skidded slightly _______ the  runway.

8.Word order. Put the words below in the right order:

1. shut, engine, number, we, down, strike, a, after, one, bird, have.

2. the, that, engines, aircraft, pilot, been, the, to, one, unable, informs, start, has, of.

3. in, engine, what, may, result?

4. failure, what, a, expect, controller, should, case, of, in engine?

5. declare, did, immediately, the, emergency, an, pilot? 

· Match words in the left and right columns to form common collocations.

1.explosive                  
a) strap

2. lap


b) error

3.regular


c) decompression

4. human


d) inspection

5. severe 


e) point

6. vital


f) checks

7. independent

g) shock
 

9.Read and translate the text using a dictionary if necessary.

ALL 121 ABOARD KILLED IN GREECE 737 CRASH

       A Cypriot airliner crashed into a hill north of Athens on Sunday 14, August 2005,

Killing all 121 people on board. Reports said at least one of the pilots was unconscious when the plane went down, possibly from lack of oxygen in the cabin.

       The Boeing 737-300, carrying115 passengers and six crew, was to have flown on to Prague, Czech Republic, after stopping in Athens. It was heading from Larnaca, Cyprus, to Athens International Airport when it crashed at 12:20 p.m. near the town Grammatico, about 25 miles north of the Greek capital, leaving flaming debris and luggage strewn across a ravine and surrounding hills.

       Witnesses said they saw the plane being followed by the Greek air force jets when it crashed. Two F-16 fighter jets from the Greek Air Force had been scrambled and sent out shortly after the plane entered Greek air space over the Aegean Sea and did not respond to radio calls – a standard Greek practice. As they intercepted the airliner shortly before it crashed, the jet pilots saw  the co-pilot slumped unconscious over the control. The captain was not visible in the cockpit. They also reported that there was no movement in the cabin. While the exact cause of the crash is unknown, early indications were that it was a technical problem and not terrorism.


The Head of the Greek airline safety committee, Akrivos Tsolakis, described it as the “worst accident we’ve ever had”. He speculated that there may have been a problem with the cabin pressure. “There apparently was a lack of oxygen, which is usually the case when the cabin is depressurized”, he said. He confirmed that the Helios crew had not made any contact with their Greek controllers in Athens.


Greek state television quoted Cyprus Transport Minister Haris Thrasou as saying the plane had experienced decompression problems in the past. It was explaned how decompression is extremely serious because its effects happen so quickly. “If the aircraft is at 30,000 feet, you don’t stay conscious for long, maybe 15 to 30 seconds. It is like standing on top of Mount Everest”, he said. “But if you are down at 10,000 feet, you can breath for a lot longer”. Airplane cabins are usually pressurized to 8,000 feet.


Soritis Voutas, whose cousin was a passenger on the plain, told Greece’s Alpha television he had received a cell-phone text message minutes before the crash.”He told me the pilots were unconscious… He said: “Farewell, cousin, here we are frozen”.


Rescue workers and residents at the scene said they had found no survivors.

10Which words below are being defined here?
1. It seems that…………………………………………………………………….

2. To be at fault or be guilty (of)………………………………………………….

3. The action of putting force or weight into something………………………….

4. Having lost consciousness……………………………………………………...

5. A sudden, violent and noisy accident…………………………………………..

6. A phone that you can take with you use anywhere; a mobile phone…………...

7. The part of a plane in which the pilot sits………………………………………

8. To think about or talk about  a matter without having  the necessary facts…….

9. To stop and usually catch or destroy (someone or something moving from one

place to another…………………………………………………………………

Blame, unconscious, cell-phone, speculate, intercept, cockpit, crash, pressure, apparently

11Complete the gaps. The first letter of each word has been given.

1. A lack of oxygen in the cabin c………. the crash.

2. In Greek a……………, if an aircraft does not respond to radio calls, the air force sends

         j……… out to investigate.

3. The Cypriot Transport Minister said that the 737 had had d…………… problems in the

 past.

4. The jet pilots saw the co-pilot slumped u……………. over the controls.

5. He speculated that there may have been a problem with the cabin p……….. .
12What are the opposites of the following?

North……………………


unconscious…………….

lack……………………..

down……………………

possible…………………

difficult…………………

back…………………….

past……………………..

serious………………….

quickly…………………

survived………………..

rising……………………

13.Organize the words into correct sentences. Sometimes more than one answer is possible.

1 trucks  crowded  and  near  ambulances  fire  roads site  the  crash.

2 section  only  the tail  the plane  intact  piece  of that  was  remained 

3 before  he  had  the crash  minutes  a cell-phone  received  message  text.
14.Correct the mistakes with prepositions in these sentences. Be careful: some are correct.

1. In least one of the pilots was unconscious.

2. The causes for the crash are not known.

3. The plane being followed by the Greek air force jets when it crashed.

4. The crash was not caused on    terrorist  act.

5. The crew had not made any  contacts  to the Greek controllers.

6. If the aircraft is on 30,000 feet, you don’t stay conscious for long.

15.Read and translate this piece of text.

At  2137:43, flight 965 passed TULUA on a heading of 193 , in a descent from FL 180, at an airspeed of 288 knots. The throttles were at flight idle and the speed brakes were extended about ½, when the airplane began a left, descending turn. At 2137:46, the controller said, “report TULUA and eeh, twenty one miles, ah, five thousand feet”. During the turn the captain and the first officer discussed their  uncertainly regarding their location with respect to TULUA and the airport. The airplane continued to descend, and the speed brakes were further extended to about ¾ and then full. Ninety-eight seconds after the turn began, the airplane stopped turning left at a heading of 101 , and the first officer initiated a right, descending turn to the southwest. 

16.What are the opposites of the following?
descent

uncertainly

extend

further

full

begin

stop

initiate

right

southwest

17.Answer the questions and comment them on.

1. Did flight 965 pass TULUA on heading 175?

2. Was flight 965 in descent from FL 180?

3. Were the throttles extended full when the airplane began a left, descending turn?

4. Did the airplane stop turning left at a heading of 101?

5. Did the captain initiate a right descending turn to the northeast?

18.Correct any mistakes with prepositions in these sentences. Be careful: some are correct.
1. Request low pass over the runway to check on the ground.

2. Proceeding to holding area in order to carry out complete check.

3. Make a low pass on 200 metres.

4. Land on grass 20 metres left from RW 34 left.

5. The airplane was descending via 8,839 feet msl.

6. The warning continued during 15 seconds.

7. The captain contacted to Cali approach control.

8. The plane was damaged when it flew through trees during a non-precision approach on runway 15.

9. A pilot may request to fly past the control tower in the purpose of visual inspection from the ground.

4

